the HEART of YOUR HOME

& hearthstone

.
™
o
S
- 3
I X
c
® 258
527
—3QS 4y
TRt R
TONBYE
OHH#D
Meal
VD-.nIan
oo s9o-.
e..lee...u
deSC
23093
8.5 o
[ X = o
ITSWEa



RANDALL 


wbartlau
Placed Image


& hearthstone

the HEART onOUR HOME
Model:

Heritage #8021

Production Dates: February 2003 -
Serial #: 001001 -

Note: Specify color for enameled cast iron parts.

7/26/2010

Key

el
NEhEBbowo~NoobhwNRk

NN R R R R R
PO oO~NO®U MW

23

Part #
1421-56
1201-25
1201-26

1141-240
1141-242
1141-253
1141-251
1141-252
2010-225
2010-290
1141-243
1141-261
2010-210
2010-230
2010-285
5570-150
2010-280
5021-025
2010-220
90-73216

5021-030

Description
Stone Right side 6 11/16" x 9 1/2"
Stone Rear Corner 8" x 9 1/2"
Stone Rear Center 8" x 9 1/2"
Stone Left Side Bottom 4 5/32" x 6 11/16"
Stone Left Side Top 2 7/8" x 6 11/16"
Stone Front Corner 2 19/32" x 9 1/2"
Stone Front Top 2 3/4" x 9 1/2"
Stone Front Bottom 3 3/4" x 9 1/2"
Bottom Casting
Top Casting
Stone Top Left & Right 8-1/16" x 15-3/4"
Stone Top Center 8 1/32" x 8 3/32"
Foot
Corner Post (Leg)
Flue Collar
Top Radiation Shield
Flue Collar Frame
Primary Air Control Shutter
Ash Pan Door
Ash Pan Door Latch Assembly
Includes:
Set Screw
(4) Spacer
Chrome Handle Crank
Spring
Ash Pan Door Latch
Primary Air Handle



7/26/2010

25

26
27
28
29
30
31
32
33
34
35
37
38
39
40
41
42
43
44

49
50
51
52
53

54
56
57
58
59
70

90-71100

5021-040
2010-242
2010-240
5021-041
5021-042
5021-043
5021-065
3120-020
0000-101
2010-228
2010-275
2010-250
2010-252
1141-241
2010-255
2010-257
5021-055
90-73212

90-71100
2010-245
2010-265
2010-270
90-58215

5021-060
5021-035
5021-020
5021-010
90-57210
90-53210

Wooden Handle Assembly
Includes:

Wood Handle

1/4-20 x 3 1/4" Bolt

(2) 1/4" Lock Washer
Secondary Air Riser
Secondary Air Plenum -Left Side
Secondary Air Plenum -Right Side
Secondary Air Pipe #1 (Rear)
Secondary Air Pipe #2 (Center)
Secondary Air Pipe #3 (Front)
Baffle Support

Ceramic Baffle

Firebox Stones

Ash Grate -Top

Cast Trim -Right Side

Cast Side Loading Door

Side Door Retainer Plate

Side Door Stone Inlay 8 3/8" x 10 1/4"
Cast Side Door Outer Frame
Cast Side Door Inner Frame
Side Door Outer Frame Plate
Front Door Latch Assembly
Includes:

Set Screw

(4) Spacer

Chrome Handle Crank

Spring

Front Door Latch

Wooden Handle Assembly
Primary Air Plenum

Front Door Outer Frame

Front Door

Front Door Glass Kit
Includes:

IR Glass

5' 3/4" Gasket Tape Adhesive Backed
Glass Retention Clips

Ash Grate Control Rod

Primary Air Control Retainer
Ash Pan

Optional Fan Kit

Optional Outside Air Kit



7/26/2010

75
76
78
79
80
81
82
83
84
85
86

2010-215
90-68210
5210-2320
2010-282
5550-155
2010-227
4400-0550
4600-0800
2010-422
5021-037
90-73213

Ash Pan Frame

Optional Rear Heat Shield
Threaded Rod 3/8"-16 x 20 1/2"
Cover Plate

Air Control Bushing

Ash Grate Base

Ash Door Hinge Pin

5/16" Washer

Right Side Impact Plate

Ash Pan Control Handle
Side Door Latch Assembly
Includes:

Set Screw

(4) Spacer

Chrome Handle Crank
Spring

Side Door Latch



	Heritage8021PartsList.pdf
	Sheet1


